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Another Example???

The distance from Cambridge to Ottawa is 480 km.  Gerry is able to drive at 
100 km/h on Highway 401 but can only average  60 km/h on Highway 7.  If the trip 
takes 6 hours, how far did he travel on Highway 401?
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Solving a 3 by 3 System of Equations

STEPS:
1) Eliminate one of the variables
2) Solve the 2 x 2 system
3) Use "backward substitution" to obtain a solution

  x ­ y + z = 0
3x ­ 2y + 5z = 8
2x + y ­ 3z = ­9

Check with TI­83???
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4x + 9 = 3y ­ 6z
3z = 10 + 2x + 4y
2y = 4z ­ 11 ­ 3x

Another Example??? Check with TI­83???
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EXTRA PRACTICE...
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Revivs 5‘3’? fems ok eomiadvens
Solve each linear system. Y

(8 2m+n=-1 ®) x+3y=2 = () a+2b=-T
3m—-n=-4 x-2y=2 3a-2b=-5
(@) 3p—-g=14 (&) 3x+2y=-15 ) 4m—-31=23
3p+2g=8 x-3y=6 2m+5n=35
(8) y=2x+5 () 3m-2n=38 @ 2a+3b=-6
2x —3y=-11 Tm +2n =32 5a-2b=-15
Find the coordinates of the intersection of each pair of lines.
(8) 2x=3-3y (b) 2x-18y =0 s {©) 4x-3y=-20
6y +10x+3=0 3x~35y =22 Cdx-y=-4
(d) 3x-2y=13 (e x-3=2y # 2x-3y=-25
2x+y=4 5x+4y-8=0 3x+y=-21
Solve and verify.
- 2=
(a) Sx—g%—ai—llzo () 2x+1i%+—31=2 (c)—‘%—ﬁhv:?)
xiE3 Skl i, e
2 +4y=-8 3 = x -3y =-8
Solve each system.
@ 6x5—3_724+ 1=_5 ®) 3x2+ 9_,‘)}}:2 =
=2 3y+d4 Sx -1 4y 5
g 1 T =6

The sum of two numbers exceeds twice the smaller number by 7.. One half the larger number is 3 less than the
smaller. Find the two numbers.

Maple Sports is having a closing-out sale. 4% is lost on all equipment and 7% is lost on all clothing. Tn 1d

sales were $2300. If the total loss was $125, what portion of sales were for clothing?

200 people attended an acrobatics show. Adults paid $2.00 each and children paid 75¢ each. If total receipts
were $337.50 how many adults and children attended the show?

A ten—speed bicycle cost $40 more than a 3—speed model and $55 more than a standard model. Two 3-speed and
2 standard bikes can be purchased for $80 less than 3 10-speed bikes. How much does a 10-speed bicycle cost?

Simco Gas sélls regular gas at 49¢/L, and premium gas at S1¢/L. It also sells a mixture of the regular gas and
the premium gas at a meédium price of 50.2¢/L.. If a 10 000—L tanker is to be filled with the medium price gas,

how much regular and premium gas should be used?

Joan wishes to invest $3600 in two types of bonds, one yielding 10% and the other 8%. How should she split
her investments so that each bond earns the same amount of interest? :

ANSWETS s RS N R e TR e - - e
8.aym=-1,n= B)x=2,y=0 ca=-3,b=-2 dp=44g9=-2 e)x=-3,y=-3
Baion trae 13 Baoda=? Da=35-0 Bax-Ty=2
b)x=9,y=1 ¢)x=1,y=8 dx=3,y=-2 e)x:Z,y:—% Hx=-8,y=3
10.2)x=-3,y=-2 b)x=Ly=-; r=Ly=3 1lLa)x=-2y=1

Br=ly=2 12.13,20 13.$1100 14.50 children, 150 adalis 15, $110

2
16. regular: 4000 L, premium: 6000L  17. $1600 @ 10%, $2000 @ 8%
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